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Class V — Internal-Assessment — 6

Full Mark: 40
Answer the following questions. [1X10=10]
2
1. If = of a number is 500, then what is the number?
2. 8932 is divisible by 11, mark True / False.
3. Which is greater? 28.67 or 28.607.
7
4. Find — of a score. (1 score = 20)
10
5. All numbers divisible by 3 are odd numbers. Mark True / False.
7
6.2—x =1.
10
7. 1f a number is divisible by 9, then it is divisible by 3. Mark True / False.
8. Complete the sequence: 0.015, 0.02, 0.025, ,
5 35
9. ; and g are equivalent fractions. Mark True / False.
10. Arrange in descending order: 0.05, 1.05, 0.15, 0.115.
Answer the following questions. [4X5=20]

11. Find the LCM of 168 and 350.
2

12, Simplify: 1 (41 1-)
_ 124 (42212
implify 2 = =

13. Add 23.601, 42.12 and 0.482.

14. Find the HCF of 27, 54 and 72 by prime factorization method.

2
15. An oxygen gas cylinder has a capacity of 35 liter of gas. 25 5 liter of gas is used. How much gas is left

in the cylinder.

Answer the following questions. [2X5=10]

3
16. E of the students were absent on a rainy day. If there are 1000 students, how many students came

to school on that day?

17. A bus covers 355 km in 4 hours. How far it can go in 16 hours?
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